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Alternating series-
The most prominent example is
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If ④ tf , ⑤22 and $33 are fatetfied, then
the Alternating series converges .-
Proof. Study the partie sums :
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A conjecture from the above picture is :
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Neat thing to prove is limSn=c
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There must be a connection between and

The connection is : since ant. so
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This theorem is Called Alternating Bris Tet
It follows from this Theorem that
the Alternating Harmonic series converges
In the notes I approve

that.
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There is something amazing about
the Att . Harm .

Series
.
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bn converges,
but ⇐ Ibrd diverges

we call Ibu conditionally courongat

If both ⇐ bn converges and -2 Ibn tour.
Absolute convergence
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